Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER — 4 (NEW) - EXAMINATION - Winter-2023

Subject Code: 4340903 Date: 02-02-2024
Subject Name: Electrical Wiring Estimating, Costing & Contracting
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

1.  Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4.  Use of programmable & Communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6.  English version is authentic.
Marks
Q.1 (a) List types of wires and explain any one of them with neat 03
sketch.
ULl () el el didRedl YIEl ofelid] 516 Ul s dldR wisldue 03
quldl.
(b) Comparision between scientific and approximate estimation. 04
(W) URIELELS Vel W ULH L Bie ool MM 52, oY
(c) Listany seven tools used for wiring and state it’s functions. 07
(5) AL U dURldl S16URL Ald Altellel L€l Weild) 24a 09
Aat1 1107 @ud)
OR
(c) Draw and explain with neat sketches. 07
1) Staircase wiring 2) Go down wiring
(5) 1) &les] AU uia 2) ALSIGet Al u1s(dueE dld). 09
Q.2 (a) Calculate full load current and starting current of 10 H.P. 3- 03

phase Induction motor. Assume power factor=0.8 lag,
efficiency=85%

Usl2 (3) 10 AAYL, 3 -5 G55l Hl2R HIZ §4 €S s22 W 03
w12l 532+ ARl 520, UldR $522=0.8 v W S| R1UeA]
=85% IR\

(b) A residential flat consists of following electrical points: (1) 04
light points-10 nos. (2) fan points-05 nos. (3) 3 pin socket (5
Amp) - 05 nos. (4) 3 pin socket (15 Amp) — 02 nos. Calculate:
(1) Total electrical load (2) Number of subcircuits (3) Total
current (4) Size of main switch.

(W) s {5l sqeul «lA Yyusdl gasilsa dlseil oY
AHALL UL’ B, (1) @l Ul§2-10 «idl (2) el Ul§2-05 «ial
(3) 3-Ulel Al5e(5 WluR)- 05 <31 (4) 3-Ulsl Al52(15
ANA)- 02 <ol 1A Ywusl aQdl sA. (1) 2led
gas2lsa dls (2) A2+l vl (3) 2led 522 (4)
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Ne5el | yefl 416
Explain E.M.D., Security Deposit and S.O.R. Explain the role
of S.O.R. in calculation of material cost.
gAHSL, RSN Slulble ua A wLMIR, AH%d,
Ul A M letof] AQIATIHL W24 2 1R.of Hiscd YUl

OR
Calculate full load current and starting current of 15 H.P. 3-
phase Induction motor. Assume power factor=0.85 lag,
efficiency=86%
15 AL, 3 -5 Pe5slel Hl2R HIS §6 dlS 2 W
w1ZPl seell aYdl A UldR  $522=0.85 A

A 5] [RAuR{l =86% IR

A residential flat consists of following electrical points: (1)
light points-20 nos. (2) fan points-10 nos. (3) 3 pin socket (5
Amp) - 10 nos. Calculate: (1) Total electrical load (2) Number
of subcircuits (3) Total current (4) Size of main switch.

As 15R{ud sdeul oA Ywusil $asilsd dlsel
UM AU B, (1) dlefe Ul§2-20 «idl (2) el Ul§2-10 «ial
(3) 3-Uletl 132 (5 AAR) - 10 «idL.

o1 Yool AQld3] 2.

(1) 2led 6as2lsd dls (2) AnAsledl 2wl (3) 2led
522 (4) N8l 2| Us{]l ULTH

Explain abilities of a good Estimator. Prepare inquiry form for
purchasing 200 tube lights, 100 one way switches and 100
ceiling fans for your polytechnic.

URL delssiRel draif@isdil deldl. duil QldlRsls
H[2 200 JU dlE5e, 100 del-d U wal 100 (U] 5ol
HI2e} Sosal 1A s1H dUIR 530,

List any six general rules for domestic wiring estimation.

SIARLS U2l Wi loy HIetl S1OURL &9 YLH L (M ]ef]

IIEARALTCN
Explain any eight salient features of Industrial wiring.

&5 d1uZTLedL S16 URL 16 Hud 4Rl uuexldl.

In a three storied hostel building, there are total 50 lights, 15
fans, 11 plug point (5 Amp) on each floor. Find (1) load on
each floor (2) Total load of installation (3) Number of sub
circuit on each floor (4) Size of main switch (5) Size of main
switch on each floor (6) Size of DB. Use 415V, 3-phase

supply.

WS AR HIUef] €ld [(esTaHL €35 HINL UR §6 50 dlE5,
15 YWl wal 11 Wdl Ulee (5 AndlAr) 8. (1) €35 Hlneil
MR (2) Ser2ldlelell 54 MIR (3) €35 HIN U A Y 5lesdl
duAl (4) APl 1uef]l UGB (5) €35 HIOL HI2 Ul
dlus{l A1 (6) SLudlefl AL 2Mldl. 415 dle2, 3-5xell
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List the formula for finding full load current of 1-phase and 3-
phase Induction Motor.

[Ri21e 325 Wl 8il 3o So55Rlet HIeR HI2 §d dlS s22 Qlltal

Hl2all 3yl dudl.
Explain in brief MCB and ELCB.

MCB ¥l ELCB &5Hi dHo1dl.

Write short note on “Load calculation for lifts, escalators and
air conditioners in the large installation of multi-storeyed (high
rise) building”.

‘Y-S (18-_UAT») [Weslul Hl2l Fereldletl
(@52, WA U WR-5512le12 Hl2etl dlSe{l ARId]” AL

(AN YR &5elle qu).
List properties of overhead line supports.

NS dleSetoll 25134\ell AQRIeHT Gudl,

Clarify the statement “An approval from electrical inspector is
necessary before giving supply to newly constructed BIG
BAZAR complex”

“sici| Welldall o]l WHR SINASUA G MUl USHL
ga521s6 S50l URdle1d]] Ad] %3] 8.7 w| 22l
AL 52,

230V, 10Ampere capacity service connection is to be given to
single floor building from 40meter away 3 phase 4 wire
distribution line. Draw lay out of service connection.

AS HLNstL HSlelal 230d1€2, 10 WUR Ud el eHdldly)
Ul A\sial Hsletell 4012 €2 H1Ad] 3-3, 4-dIUR,
SlRelwielsl @leeimiell uiudle 8. 1l Ay A\sill

R 4- 341G &R
OR
List I.E. rules for service connection.

AU A\ S18LeL LE. 96 Gud).
List the factors to be considered for selecting the wiring
system for multistoried building.

HeZlRRS (Wesholefl qrulol dleH ude sl Ml

e e{H| QellHL 2 lddl Ul odol qul,
List and explain insulators used for overhead line.

WLARES @ldel Ul dURdl Syl (G2 tlsild) wa
YAl
List main components of overhead distribution system.

U1dRES SlR2162lel [RiMell Yu HINNeA] ALE] ofetldl.
Compare overhead distribution and underground distribution.

UldeES SI2luyRlel WA B{SALBeS Sl2leylel gl
v MR 52,
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One 400-V 3-phase, 4 wire, 50Hz, overhead distribution line is
900 meter long. Take 60 meter span between two poles. Use
AAC 3/3.66 mm as line conductor and 8 SWG G.l. as neutral
and earth wire. Take PSC pole and estimate total material
required.

A5 400 dle2, 3-32, 4-AIUR, 50 &35, w\ARES, SlREl6Yelst
161 900 Hler diodl 8. il Ul a2 60 Hl2ell At 1R,
algel 55522 A% AAC 3/3.66 mm, s3J2d 3iel el AR H[2
8 SWG G.I. dldR dluRl. PSC Uld ol Gulal s il
1dES SI2luyRuel dlefel Ul %eI] URUEAL 2ielw

Woild),
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Draw sketch of stay set for overhead distribution system.

U\ES Sl21e2lel [R1H HI -A2eil wis(d £)R).
List the reasons for failure of line insulator.

4180l Sy 564 Ad el S1RQ0Ne{l Y1l wiatidl,

One 400-V 3-phase, 4 wire, 50Hz, overhead distribution line is
700 meter long. Take 50 meter span between two poles. Use
AAC 3/3.66 mm as line conductor and 8 SWG G.I. as neutral
and earth wire. Take PSC pole and estimate total material
required.

W5 400 dle2, 3-32, 4-AIUR, 50 S5, Y\ARES, S1RE16YRlst
dlefel 700 HleR divfl 8. A Uld 93 50 Hl22ed] R let IR\
Lol $5522 3 AAC 3/3.66 mm, s2d el el U HI2
8 SWG G.I. dld2 dluRl. PSC Uld <l Gulal s |
ULdES SIR2lu2el dlefel HI2 %eI] HRUEAL Biel
et ld).
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